Instructions for Chapter 13 Application Software Exercise

To perform a breakeven analysis, one must first determine all the variable and fixed costs and then calculate the contribution margin per unit. The contribution margin per unit is the difference between the selling price per unit and the variable costs per unit (selling price per unit – variable costs per unit). 

This problem has been simplified so that the breakeven point for a single product, such as the proposed new toy set, can be calculated by dividing the total fixed costs by the contribution margin per unit. Once you have determined the breakeven point, the minimum number of units of the new toy set that must be sold for Selmore to break even on the product, you can then perform a sensitivity analysis examining the impact of different cost variables on the breakeven point. 

In your sensitivity analysis, examine the impact on the breakeven point when labour costs range from $12 to $17 dollars per hour and when insurance costs range from $90 000 to $110 000 annually. Your data table should show labour costs ranging from $12 to $17 per hour in one dollar per hour increments and insurance costs ranging from $90 000 to $110 000 in $5 000 increments.
